h?é?. Volvu‘"t-'-5 (5';'4,'.4?>

See the bLowls (Fagg 4—3() for Pr'c‘l‘uf‘e-‘.s.

We Wwo’f-l ‘H~c VleMl‘_ as 'H‘»t Suurt o'p thin
5‘1‘686.

EZ’AW‘fIC (I‘) Ro‘l‘k‘l‘f— ‘1’44(_ rca:‘or\ lsaunpﬂed& b/
Y= \J?, X=2 and Yzo, about Yhe 2-azs

(‘o*ac}e::k AlODM"_ "1\4 T-Aax,s = 0\\;[4‘ .

E'thm/))ﬁ ("'.] Ratate the f‘dgi‘oﬂ bounde A
by y=iz, X221, 422, about the Y-azi's



Look a‘,‘ (‘ec‘)‘anal;’_ ?amu\lg +o A -ax ™5 P0+q+¢p{
abont the Y-ax's =D Wagher

3 M ye-

SR "
le— p — = ’h‘(Rz*r:‘),lg
ﬁ V\)"u‘re_ P\:Z ; fcgz.

\/E-Mrg

o

5
L Mathematica

[ xample (i
amp ) Rautate 1o region bound,

2
L)y g;'x qnﬂl 7K+3:'2_) o“oou"" the ’2:’-0\2.’;'5_
1* X




AV ﬂ( = ((z-x)’"— (23)") Jx
VB { heamante 2t

-2

—_ 127

= _ZE_— = 45,234¢9
_E"_-,_;:a.mflt. (\VE Vo[umc agnerﬁ-’\_‘p( L/ ')qu_g_ ,‘n""ff‘fgcf,*oﬂ
or 1

C\‘(‘zb\\qr cy‘,tn'!‘_fs (o'F p‘\'.:u, R) wl“l'k or's

o# 5ymmr_+r/ n'n"*er-fzc{‘:'n? <+ Nslﬂ"- am?)e 5,

S5ee problem (4 Page 440 of Y bLoak.

@@ = @

5;0(8_ Viewd 3 /x’+71={<1‘
65
5'.‘c¢_; |
@ N = 17d,

where | 2 7_(@,—31




® Crnmyle
wH'l‘

(qi.) F'.f‘/( ﬂ'f Volume °-F tHhe F;H"a\m:'o/{

Sal_mu'e. base :‘F the 5,‘1&‘3 &‘F 14 e base are
10 m  and Hee lu.'al."" oF The nyam,'a'{

@ }.s ,s{é%n

5“(‘_.5 afe 51&(4(‘: )Oo‘J(eS
g )Sﬂ’;
A o
- 2
£,

TO 'pl’ﬂ’( /( Use Sf,"'\n”qf' ')"f'a’

i 5 ls"‘"\.

o /
qn? 24

lozl—@’h%z

Se 15 7
VE= | (39 dy

l
)
e
n
ol
'J
S
e

= LoO

(N0+e 1 V: "l?;(owea\ of \oafc)(hcn'aH‘) = %(100)05):500)



